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B 
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CLASS: XI 
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{2) This question eationa In afl. All questions are compulsory. 

Section E. paper has 5 •ectfons: Section A Section s, Section C, Section D and 

(3) All the ' 

(4) Section~• .•re compulsory. 

mark each, Secti~~•ns 16 questions, 12 MCQ and 4 Assertion Reasoning based questions of 1 ~ 

rnartcs each Section 8 contaf na 5 questions of 2 marks each, Section C contains 7 questions # 

contains 3 l~ng • D contafna 2 case study-based questions of 4 marks each and Sectio"' 

(5) There is no ov:~~ questions of 5 marks each. _/.::; 

~on B, one questfo~~ofce. However, an Internal choice has been provided in one q~11
" 

•n Section E. You ha t n Section C, one question In each CSQ In Section D and all~ 

(6) Wherever neces:ae O attempt only one of the choices In such questions. 

. ry, neat and properly labelled diagrams should be drawn. 

Q1. 

Q2. 

Protonema stage is _ 
SECTION A 

A) Creeping, green b 
B) Prostate gree in ranched and frequently filamentous stage 

C) Creeping· re:• ranched and frequently filamentous stage 

D) Prostate, '0~
0 

_ n, branched and frequently filamentous stage 

green, unbranched and frequently stage 

Gymnospenns are­
A) Haplontic 

8) Diplontic 
C) Haplo-diplontic 

D) Diplo-haplontic 

03. Choose ~~ co,:rec_t statement about perigynous nower-

AJ Gynoec,um 1s situated in centre · ost at 

BJ Apart from gynoecium, rest parts are 'tocated on rim of thalamus aim 

same level 

(1 Marl<) 

(1 Marl<) 

CJ Ovary is half inferior 
(1 Mark) 

D) All of these 

04. Cassia has -
A) zygomorphic flowers with /mbrlcate ae~tiv~tion 

8) actinomorphic flowers with twisted aes!Jva!Jon 

C) zygomorphic flowers with twisted aestivation 

D) actinomorphic Rowers with lmbrlcate aestivation 

1 

(1 Marl<) 

I 
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QS. 
Given diagram represent -

A) Axile placentation 
B) Parietal placentation 
C) Free central placentation 
D) Basal placentation 

(1 Mark) 

06. Choose correct order of cells from outside to inside in a sunflOWer root-
A) Epidermis - endodermis - cortex - pericycle 
B) Epiblema - cortex - endodermis - pericycle 
C) Epiblema -cortex - pericycle - endodermis (1 Mark) D) Epidermis - endodermis - pericycle ~ cortex 

rlf. Read the given statenients and choose the number of correct statements 
(i) Leaf of dicot lack cuticle • • • 
{ii) Stomata on adaxial side of epidermis is more in number than abaxial side 
{iii) Mesophyll is the ground tissue in dicot leaf 
(iv) The adaxial epidermis may lack stom.ata 
A) 1 
B) 2 
C) 3 
D) 4 (1 Mark) 

ae. The figure given below is related to the female reproductive system of frogs. 

09. 

Identify A to D. 

A 
A) Ovary 
8) Ovary 
C) Ovary 
D) Ovary 

"Ql,,,.--0 

r-::,..-1w----__,..., 
-.:.--0..-IIClellult 

B 
Ureter 

Urinogenital duct 
Ureter 

Urinogenital duct 

C 
Oviduct 
Bidde(s canal 
Ovisac 
Bidde(s canal 

Hypodermis of dicot stem is made of-
A) Parenchyma 
B) Collenchyma 
C) Sclerenchyma 
D) All of these 
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D 
Cloaca 
Ovisac 
Oviduct 
Cloaca (t Mark) 

(1 Mark) 



I 

bod' 
Q10. 

• that the ies of a . 
The hypotheS

15 
15 was PfOPosl!d b "'111als and 1 • 

and thei( prod,UCd scJ1W81ln • y. • P ant are composed of cells A) Schle1den an 
B) Rudolf VirchOW 
C) Schwann onfy c111eiden 
D) VirchOW and S 

011. 

1 g is th 
Wllich of u,e follo\1111 e essential Inf O~in , 
A) lnclusiOn g s of cell membrane 
B) Mesosome 
C) Chrv111at~5 

D) Plasm~ 

012 -. Which type of cells are like~ to have a h, 
• A) Skin cells . igh number of milOChonctna? 

013. 

014. 

015. 

B) Nerve cells 
C) Muscle cens 
D) Bone cells 

Assertion: Mosses are of _Qreat ecological importan 
Reason: They prevent SOIi erosion b i . ce. 
A) Both assertion and reason are co~ o~rng a dense m~t on the soil. 
explananon of assertion. ec and the reason rs ~e correct 
B) Both assertion and reason are t 
explanation of assertion. correc and the reason is not a correct 
C) Assertion is true but the reason is false 
D) Assertion is false but the reason is true. 

Assertion (A): In monocot stems, the vascular bundles are scattered throughout the ground tissue. 
Reason (R): Monocot stems lack a well-defined cortex and pith, · ect 
A) Both assertion and reason are correct and the reason is the corr: 
explanation of assertion. • . ot a correct 
B) Both assertion and reason are corr~ct and the reason rs n 
explanation of assertion. 
C) Assertion is true but the reason is false 
D) Assertion is false but the reason is true. 

ed in a reticulate pattern. Assertion (A): In dicot leaves, the veins are a~:~ vascular bundles in their 
Reason (R): Dicot plants have collateral and c 
leaves. • • 

1 
d the reason is the correct A) Both assertion and reason are correc an 

explanation of assertion. 1 and the reason is not a correct B) Both assertion and reason are correc 
• explanation of assertion. • . 
C) Asse~on is true but the reason '~ false 
D) Assertion is false but the reason rs true. 

016. Assertion-There is hepatic portal system in frogs. . . . . 
Reason: There Is a venous connection between liver and mtestme m frog. 

3 

(1 Mark) 

(1 Mark) 

(1 Mark) 

(1 Mark) 

(1 Mark) 
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A) Both assertion and reason are correct and th 
19 

lh8 correct 
explanation of assertion. 8 reason 
B) 80th assertion and reason are correct and lh , not a correct 
explanation of assertion 8 reason 15 

(1 Marl<) C) Assertion ls true but t.h . 
D) Assertion is fal bu e reason I~ false 

se t the reason 1s true. 

an. Differentiate betw SECTION B . enetic 
material and een prokaryotic and eukaryotlc cells in terms of their 9 

organelles. 

I 
.o~ 

A _scientist discovers a new single-celled orga~ism. After examining it under a 
m~croscope.' she observes that it has a well-defined nucleus, numerous 
mitochondna, and a cell wall. Based on these observations identify the type 
of cell and justify your answer. ' . (2 Marks) 

018. 
How do gymnosperms differ from angiosperms in terms of seed formation 

. (2 Marks) and reproductive structures? 

019. Describe the structure and function of the skin in .frogs. (2 Marks) 

020. During an experiment, a student' observes that when a certain cell is placed in 
a hypertonic solution, it shrinks in size. Explain the process behind this . 

(2 Marks) observation and identify the type of solution that caused this effect. • 

021. Differentiate between a simple leaf and a compound leaf in terms of their 
structure. (2 Marks) 

SECTION C 

I Q22. A biologist discovers a new organism in a tropical rainforest. The organism 
has the following characteristics: 

I 1. It has a cell wall made of chitin. 
2:lt lacks chlorophyll and does not perform photosynthesis. 

i 3. It reproduces both sexually and asexually. 

I Based on these characteristics, classify the organism into the appropriate 
(3 Marks) kingdom and explain your classification. 

(123. A gardener is planning to plant a garden with various flowering plants. He 
wants. to ensure that he includes plants with different types of leaf 
arrangements for aesthetic diversity and functional purposes. Based on your 
knowledge of leaf morphology, advise the gardener on three different types of 
leaf arrangements and their potential benefits in the garden. (3 Marks) 

024. Compare the open and closed circulatory systems, and provide examples of 

I animals that have each type. 

OR 

Describe the key differences between the phyla Arthropoda and~Annelida in 
terms of body segmentation, exoskeleton, and type of circulatory system. (3 Marks) 
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Explain the structure and functio 025. 

026. 
n of mitochondria i k . 

(i) Why are Bryophytes called . n 8 eu aryot,c cell. 

(ii) What are rhizolds? What is ~7'hibians of the plant kingdo ? 
(3Marks) 

027. 

Q28. 

Q29. 

(iii) What do you understand fro ir role? m 
m thallold body? 

Describe the differences befwee 
leaf venation, root deve/op,n8nt : mdonoeot and dicot plants . t . 

, n nora/ parts. m erms of the,r 

Explain the functions of the follow· 
the lungs. Additionally, deSCribe h rng organs in a frog: the liver th 

physiology of the frog. ow these organs contribute t' the heart, and 
0 eovera/1 

Seeds and fruits ar~ a result of fe . . . SECTION D 

The formation of fruits in flowers s~1hzat1on or sexual reproctuctkm in /ants 

the stigma followed by fertilization ;rts. from th~ moment the pollen r!che • 

after the fertilization, the ovary undefirwt formation is a post-fertilization eve~t 

ovules form the seeds goe~ changes to form the ~ru,·t Wh ' 
• ere~ 

(a) What is a parthenoearpic fruit? W 
a parthenocarpic fruit? • hy would one be interested in developing 

(3 Marks) 

(3 Marks) 

(3 Marks) 

(b) Draw a sectional view of man O d 
that is edible. 9 rupe and label two parts. Name the part MarJ<S) 

(2+2== 4 

Rahul and his father went to the n rbOR 
His father was intrigued with the 7: Y ~arden to spend some time together. 

ked h • . w, e vanety of flowers in the garden. He 
a~ . ,m some questions that are given below. Rahul, Who was a student of 

~10/ogy, answered all the questions correctly. Answer the following questions­

!: H?w do f!1e sta~en of China rose, pea, and citrus differ from each other? 

11- D1fferent1ate actinomorphic and zygomorphic flowers by citing suitable 
examples. 
!ii- How can you differentiate a pinnately and a palmately compound leaf? 

rv- What are cymose and racemose types of inflorescences? 

Q30. A zoologist discovers a new species of animal in a coastal region. The animal 

exhibits the following characteristics: 
1. It has a soft, unsegmented body and lives in a moist environment. 

2. It has a mantle and a shell, which provides protection. 

3. It possesses a muscular foot used for locomotion. 
.. . . 

Based on these observations answer the following questions: 

a) Identify the phylum to which this animal belongs and provide two examples 

of animals in this phylum. . . 
b) Describe the function of the mantle and the shell m this phylum. 

(4 Marks) 

c) Explain the significance of the muscular foot in the lifestyle and survival of 

this animal. (4 Marks) 

OR 
A newly discovered marine animal species has a radially symmetrical body 

and lives attached to a marine substrate. The animal has stinging cells called 

nematocysts and Is capable of both sexual and asexual reproduction. It 

5 l 
I 

_J 



\ 
031. 

on these 
possesses a central mouth surrounded by tentacles. Based 
observations, answer the following questions: le of 

e 8,camP 
1. Identify the phylum to which this animal belongs anct gil/6 on 
an animal in this phylum. . , . h 

. 2. Describe the role of nematocysts In the animals survival. 
1 
,nouth wit 

3. Explain the significance of radial symmetry and the centra 
tentacles for this anlmal's lifestyle. 

SECTION E 

Answer the following related to the digestive syStem of frogs­
(i) Where is bile stored in the body of a frogs? 
(ii) Which organ helps in catching the prey~ 1 bel any four parts• 
(iii) Draw the digestive system of a frog an a 

OR 

(i) How are the testes attached to the kidneys int fr°r\ioaca? HoW is this 
(ii) How are the sperms transported from the tes es O 

• 

transport different from humans? ur ;rnportant 
(iii) Draw the male reproductive system of the frog 8nd label fo 
parts. • . 

Q32. Given below is a floral diagram. 

0 

o . 
. ~· 

a. Identify the aestivation shown in the calyx and corolla of the above flower. 

4 •'arks) 
(1+1+2:= JVl 

(1+1+3== 5 Marks) 

(1+1+3= 5 Marks) 

b. Name the type of placentation seen in its ovary. Give example of a flower 
showing such placentation. • 
c. What kind of androecium do they have? {1+1+1+2= 5 Marks) 
d. Write the floral formula of the given flower. 

OR 

Read the passage below and answer the questions that follows: 
Sahil used to go to vegetable market with his grandfather. Grandfather told 
him that chilies, brinjal and tomato belong to the same family of plants and 
asked him to find out tne similarities in these plants. 
~· Identify the family to which these plants belong and give its economic 
importance. 
b. Mention two features of the leaves of the plants belonging to th' f m'I 
c. Name any two medicinal plants belonging to the same fami ts a I y. 
d. What kind of flowers they have, unisexual or bisexual? Alsoly. ti th 
kind of symmetry the flowers exhibit. . men on e 

6 

(2+1+1+1= 5 Marks) 



033. 
. • b8tw88n mycoblont and phycoblont are found in. ___ . 

a) AsSOCl
8:° princlple unde~ying the use of cyanobacteria in agricultural b) Whal Is e improvement? Give examples. 

fields tor cr:n name of P8a is simpler than its botanical (scienUfic) name 
c)_ The ~vum. WhY then Is, the simpler common name not used instead of P1sum sa scientifiC/bOtanical name in biology? (1+2+2= 5 Mam) the complex 

OR 

t bservable features in Paramoecium would make you classify it a) Wha .o dom Protista? 
uoder ~ngre cosmopolitan write the role of fungi in your daily lffe. b) Fungi a ' (2+ 3= 5 Maks) 
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